0.2

0.15

0

[y

x1073

r . EN
o +
C +
F +
I -
r +
F 4
- ¥
- (. 3
o +
o +
bbbl 1,
F - .
- L -F Y
- - g
o R
et :
FT4 -

4
- -+ ¥F
EL ] Tl

....................

100r

=

o2
o

=

10?

0.05F -+ FHit--

-0.05F -+

N
s,

3

—
L
—

re—
_4_’4_._:
-

+
+

0.15F - tH -+

3

+

—=— DQM_DisplacedsUsSY__CKF_
—e— DQM_DisplacedSUSY__mkFit_
—— DQM_DisplacedSUSY__CKF_BDT_
—— DOM_DisplacedSUSY__mkFit_BDT

Ltk

%iﬁ:

iy

RS AR R RRRRE LRRRS RARAN LARAE RARLY VLA LALAS LAY RRRRN LRRR

e e

g
g

4 —+
EENN
b=« [
S
.
R

Pt

[y
o2
I8

[N

10

100

1

=
AARAN AT LAAAI R IR L

|'"|"'|"'|"'|',1.”J':'...'|”'|

o
N
=

10




	Contents
	Page 1


